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Question: 1 
   
Which one is NOT a menu widget? 
 
A. Navigation Tree 
B. Menu Bar 
C. Tab Container 
D. Simple Menu Bar 
 

Answer: C     
 

Question: 2 
   
What is the result of generalizing the Player entity by the Person entity? 
 
A. Simplicity 
B. Two tables, one per entity 
C. Conditional visibility 
D. A single link table to store the id's of inherited objects 
 

Answer: B     
 

Question: 3 
   
Where are entity access restrictions applied? 
 
A. On every microflow. 
B. On relevant database retrieves. 
C. On every page. 
D. All of these answer options are correct. 
 

Answer: B     
 

Question: 4 
   
When should you apply an index? 
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A. To avoid complex XPaths. 
When you are working with objects that only exist in memory. 
When creating report data to view in chart widgets. 
B. You should apply indexes on attributes that are used in searches when the performance of your app is 
not up to par. 
C. Log messages are written by the person who created the functionality. 
D. The ID's of Player and Staff will keep their own set and sequence and will equal the ID in the Person 
table. 
 

Answer: B     
 

Question: 5 
   
What type of domain model changes can have an impact on the data in the database? 
 
A. The client time zone 
B. Documentation for your microflows 
C. Domain model changes and type changes 
D. Type changes and Structural changes 
 

Answer: C     
 

Question: 6 
   
The Navigation Tree is limited to how many levels deep? 
 
A. One 
B. Three 
C. Two 
D. Five 
 

Answer: B     
 

Question: 7 
   
Usability design is concerned with? 
 
A. The look and feel of individual elements. 
B. The accessibility and ease-of-use of your application. 
C. Your brand's visual identity. 
D. The emotional experience of the user. 
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Answer: B     
 

Question: 8 
   
Who is responsible for writing the error messages that your application generates? 
 
A. The developer. 
B. The property owners. 
C. The municipality. 
D. The state. 
 

Answer: A     
 

Question: 9 
   
Which one of the following is a way to help make your pages smarter? 
 
A. Warning 
B. Critical 
C. Conditional visibility 
D. Responsive design 
 

Answer: C     
 

Question: 10 
   
The Menu Bar is limited to how many levels deep? 
 
A. Four 
B. Three 
C. Two 
D. One 
 

Answer: C     
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